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Listen and read. Act out the tory. " { , mt}f e P ar &

@ Becky and her brother, Joe, are in Kensington E&M| ook Joe. That man is g - s
Gardens, a famous park in London. wearing a hat and @ =
:é.{_ .

coat, but it's sunny.

e - "W"‘r,q']l'
This is a famous statue a et

of Peter Pan. Look, he's | £ ol

playing the flute. '

/

{ | can’t hear you, Becky.
I'm listening to Justin
Jones. He's fantastic.

~ | There's a thief in Kensington

8 Gardens. He'sgotlong |
dark hair. He's got a ‘ o

moustache and a beard.

o YN

q He's got glasses and he's
wearing a hat and a coat.

e

8 Joe, look! He's taking
Peter Pan’s flute. He's a
thief. Call the police!

Y

w minutes later, the police arrive. i®

O Afe

b
Yes, | have.
| can explain.




‘ Look! He hasn’t got Ioﬁg dark
hair. He's got short fair hair.

vl
Excuse me. This | 1. : L .
man isn’t a thief. We're making avideo o= ' . i
He's a pop star. for my new song. It's . he pollce Ofﬁfers :

t
called ‘Catch the thief’. |~ SSSSpes angry with Becky and Joe>

L

Are the sentences true or false? Correct the false ones.
¢ There is a Mickey Mouse statue in the park.
e The statue has got a piano.
e There is a man wearing a hat and a coat.
e The weather is rainy.
¢ The man hasn’t got long dark hair.

¢ The man is a thieve.

Write the correct option: HAS GOT or HAVE GOT

e Joe brown eyes.

e The dog white fur.

e Becky and Joe brown hair.
e The man glasses.

e The two police officers a black uniform.
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Describing People

m Say The Tiger Street word rap.

A ey
4 fair hair 5 dark hair

9 moustache 10 ponytail

o it MRt
£

6 glasses 7 Ion.g.huir 8 short hair

Describe the man in picture number 6. Write at least 3 sentences with HAS

GOT.
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o Look and write.

1 curly 6 s
hair 9 h
2 straight 778
h
8 p
3 b
9 f
4 m h
5 1 10 d
h h

1 She’s got long hair. 2 He’s 3
{long) (glasses)

4 5 6
(ponytail) (moustache) (short)
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o Look and write.

C long-hair dark hair beard curly hair glasses )

short hair fair hair moustache straight hoir  ponytail

o Read and match.

1 She hasn’t got glosses. She's got fair hair.
She’s got a ponytail.
2 He's got short dark hair. He hasn’t got a beard.
He's got glasses.
3 He’s wearing a hat, He hasn't got glasses.
He’s got a beard and @ moustache.
4 She's got long fair hair. She’s got glasses.
She’s wearing o hat.

Look and write He or She. ,
1 hasn’t got long hair. 2 hasn’t got glasses.
3 has got glasses. 4 has got a moustache.

Order and write. Then answer.

2 beard/?/Has/a/got/he
Have they got glasses?
No, they haven’t.

3 curly/she/Has/ got/ hair/?

4 they/dark / Have / got / hair /
?/long
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Look and write the letters.

1 He hasn't got glasses. d| 6 He'sgotcurly dork hair. e
2 She hasn't got glasses, ml 7 She's got fair hair. | ;
3 He'swearing a hat. :i___i 8 He hosn't got a beard. 358
4 She’s got curly hair and glasses. | __I 9 He's got a beard and a moustache. __
5 She’s wearing o hat. '_ 10 She's got a ponytail.

Look and write.

1 Thepirate __has got 4 The pop star
a ponytail and a beard.

2 He shaort fair hair. s ﬁ

glasses or a moustache. 5 She
3 Heis a hat a ponytail or glasses.
O Bhejs - o R Tt




